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The Corporate Life Cycle
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The determinants of the life cycle

The Length/Value of the Harvest (Mature phase)
1. Growth in overall market
2. Magnitude of competitive advantages 
3. Sustainability of competitive advantages 

Speed of Ascendancy
1. Growth in potential market
2. Ease of scaling up
3. Customer Inertia (Stickiness of 
existing product or service)

Failure Rate
1. Ease of entry into market
2. Easy Access to capital
3. Investment needs
4. Time lag to market

The Decline
1. Ease of entry ito market
2. Access to capital
3. Investment needs
4. Time lag to market

The Corporate Life Cycle: Drivers and Determinants

The End Game
1. Ease of liquidation
2. Value of salvageable assets
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The emphasis in corporate finance shifts..
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And so do the cash flows…
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And the focus changes.... And so does the 
right management for the company
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Tech versus Non-tech life cycles

Tech firm life cycle Non-tech firm life cycle

Tech companies 
are able to climb 
the growth ladder 
faster because their 
growth requires 
less investment and 
their products are 
more likely to be 
accepted quickly by 
consumers.

Tech companies don't have long "mature" periods, where 
they get to live off the fat, because disruption is always 
around the corner.

Tech companies also 
have more precipitous 
declines from grace,  for 
the same reason that 
they climbed so fast, i.e, 
new companies rise 
faster to take their 
business.

Non-tech companies take longer 
to grow, partly because they 
need more investment to grow 
and partly because consumer 
inertia (attachment to existing 
products) is more deeply set.

 

Non-tech companies 
decline over long periods 
and may even find ways to 
live on as smaller, more 
focused versions of their 
original selves.

Non-tech companies get longer "mature " period, 
where they get to milk their cash cows. 



Stories and Numbers
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The Drivers of Value
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Healthy Valuation

The Numbers People

Favored Tools
- Accounting statements

- Excel spreadsheets
- Statistical Measures

- Pricing Data

Illusions/Delusions
1. Precision: Data is precise

2. Objectivity: Data has no bias
3. Control: Data can control reality

The Narrative People

Favored Tools
- Anecdotes

- Experience (own or others)
- Behavioral evidence

Illusions/Delusions
1. Creativity cannot be quantified

2. If the story is good, the investment will be.
3. Experience is the best teacher

A Good Valuation
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Across the life cycle, the emphasis shifts as 
well, from narrative to numbers…
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The steps in valuation





Corporate Finance 101
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The Essence of risk

¨ Risk, in traditional terms, is viewed as a ‘negative’. 
Webster’s dictionary, for instance, defines risk as 
“exposing to danger or hazard”. 
¤ If you adopt this definition, risk is bad and avoiding it becomes

your first priority. 
¤ Risk management then becomes risk hedging or avoidance.

¨ The Chinese symbols for risk, reproduced below, give a 
much better description of risk:

危機
¤ The first symbol is the symbol for “danger”, while the second is 

the symbol for “opportunity”, making risk a mix of danger and 
opportunity. 

¤ With this definition of risk, risk management is richer, where you 
decide which risks to hedge/avoid, which risks to pass through to 
your investors and which risks to seek out and exploit.
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Know your “hurdle” rate

¨ Since financial resources are finite, there is a “hurdle rate” that projects 
have to cross before being deemed acceptable. A simple representation of 
the hurdle rate is as follows:

Hurdle rate    = Riskless Rate + Risk Premium
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Risk free rates will vary across currencies!

Aswath Damodaran
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Riskfree Rates in January 2022 : Government Bond Rate

Riskfree Rate Default Spread based on rating

Indian Govt Bond Rate (1/1/22) = 6.45%
India Rating on 1/1/22 = Baa3
Default spread on Baa3 rating = 1.87%
Riskfree Rate in Rs (1/1/22) = 6.45% - 1.87% =4.58%
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Determinants of Relative Risk

Beta of Firm

Beta of Equity

Nature of product or 
service offered by 
company:
Other things remaining equal, 
the more discretionary the 
product or service, the higher 
the beta.

Operating Leverage (Fixed 
Costs as percent of total 
costs):
Other things remaining equal 
the greater the proportion of 
the costs that are fixed, the 
higher the beta of the 
company.

Financial Leverage:
Other things remaining equal, the 
greater the proportion of capital that 
a firm raises from debt,the higher its 
equity beta will be

Implications
1. Cyclical companies should 
have higher betas than non-
cyclical companies.
2. Luxury goods firms should 
have higher betas than basic 
goods.
3. High priced goods/service 
firms should have higher betas 
than low prices goods/services 
firms.
4. Growth firms should have 
higher betas.

Implications
1. Firms with high infrastructure 
needs and rigid cost structures 
shoudl have higher betas than 
firms with flexible cost structures.
2. Smaller firms should have higher 
betas than larger firms.
3. Young firms should have

Implciations
Highly levered firms should have highe betas 
than firms with less debt.

Aswath Damodaran
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Grasim: A Multi Business Company

Segment
Riskfree 

Rate Beta
Equity Risk 
Premium Cost of Equity

Cost of Debt 
(after-tax)

Debt 
Ratio

Cost of 
Capital

Viscose 5.42% 1.26 7.09% 14.35% 6.15% 40.75% 11.01%

Cement 5.42% 1.47 7.09% 15.82% 6.15% 40.75% 11.88%

Chemicals 5.42% 1.39 7.09% 15.29% 6.15% 40.75% 11.57%

Financial 
Services 5.42% 0.89 7.09% 11.73% NA NA NA

Grasim 5.42% 1.14 7.09% 13.51% 6.15% 40.75% 10.51%
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Your investments need to earn returns that beat the 
hurdle rate… 

¨ Your hurdle rate is both a cost of financing your business and 
an opportunity cost, i.e,, a return you can make elsewhere if 
you invest in a project of equivalent risk. If that is the case, 
you should only take investments that generate returns that 
earn more than the hurdle rate. 

¨ To measure returns, though, here are three simple propositions 
to follow:
1. Look at the cash flows that you will make on the investment, rather 

than earnings. You cannot spend earnings.
2. Look at incremental cash flows that come out because of the 

investment. Be wary of allocated costs (that will be there whether you 
take the investment or not) and ignore sunk costs (costs that you have 
already incurred).

3. Time weight the cash flows, with cash flows occurring earlier being 
valued more than cash flows later.
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Here is a short cut that you can use to assess the 
quality of your existing investments…

ROC = 
EBIT ( 1- tax rate)

Book Value of Equity + Book value of debt - Cash

Adjust EBIT for
a. Extraordinary or one-time expenses or income
b. Operating leases and R&D
c. Cyclicality in earnings (Normalize)
d. Acquisition Debris (Goodwill amortization etc.)

Use a marginal tax rate
to be safe. A high ROC 
created by paying low 
effective taxes is not 
sustainable

Adjust book equity for
1. Capitalized R&D
2. Acquisition Debris (Goodwill)

Adjust book value of debt for
a. Capitalized operating leases

Use end of prior year numbers or average over the year
but be consistent in your application
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Grasim’s Businesses and Returns

¨ Non financial service businesses

¨ In the financial services business, Grasim reports ₹ 
14,720 million in operating income and a huge amount
of assets, but that is a misleading metric for financial 
service companies. This business should be judged on its 
net income and book equity, but even with generous 
assumptions, it does not look like the ROE is in double 
digits.

Segment Revenues EBITDA Operating Income
Assets 

(prior year)
Operating 

Margin

ROIC (with 
effective tax 

rate = 30.93%)
Viscose ₹ 6,965 ₹ 1,187 ₹ 753 ₹ 11,646 10.81% 4.47%
Cement ₹ 44,726 ₹ 12,302 ₹ 9,602 ₹ 81,107 21.47% 8.18%
Chemicals ₹ 4,581 ₹ 590 ₹ 302 ₹ 6,186 6.59% 3.37%



25

Asian Paints versus Grasim: A Tally Card



“Growing old is mandatory, Growing up is 
optional”


